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//Barber (¥ £ fi)3
public class Barber {
11k R
public void wash(){
synchronized(this){
System.out.println("{TiEkLE");
System.out.println("#kK");
System.out.println("iE");
}
}
VTR
public synchronized void cut(){
System.out.println("E/5");
System.out.println("%");

}
}
//Cut
public class Cut extends Thread {
Barber b;
public Cut(Barber b){
this.b=b;
public wvoid run(){
b.cut();
}
}
//Wash3
public class Wash extends Thread {
Barber b;
public Wash(Barber b){
this.b=b;
public wvoid run(){
b.wash();
}
}
/7

public class Test {
public static void main(String[] args) {
Barber b=new Barber();
Cut cut=new Cut(b);
Wash wash=new Wash(b);

cut.start();
wash.start();
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